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Fill in the blanks:
The computer that co

e |
. CoOmmunicates with each other are ca .
- Pon 'S @ cComputer network cre
3. Anetwork main in

1led ¢
ntained without y

-—

]

ated for an individual person.
SINg wires is called a networ

3
VTN

1. The data transmissio

: n speed in LAN is very fast.
2. Nodes & servers hav

€ same function.

8]

Answer in One word:(Any 5)
2. In which network there is no cer
3. What are used for transferrin
4. Whatis g network in comput

entral server? = PR

g data & hence ethemet cable is not required? g |
er called? 1eso (€ radnm

-5. What is data inconsistency? Q & ,\v )

€. Whatis login security? < 2

Answer in detail:(Any 2)

¥, Define networking with examples. Give two advantages.
2 Differentiate hetween 2 hub & switch

3« Explain Client Server architecture.

Mulﬁple Choice Questions:

1. Network means protecting data & resources from
a) Information b) Resource Sharing ~g) Security
network is one where a few computers of equal capacity & capabilities are
connected together to use the resources on network.
a) Client-Server b) Peer to Peer c) Client-Peer
. Which is the most commonly used network card?

a) Bluetooth b) Wi-Fi G) Ethernet Network Card

. When multiple mismatching copies of a file are stored at different computers, it is
called data .

any unauthorised access.

2) Inconsistency b) Consistency c) Rgdundancy
are larger than LAN & spread across a city.
a) WAN b) PAN ) MAN

****A” The Best****

r- Give the full form of WAN. \\ jde aDta e CUOT I
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GENERAL INSTRUCTIONS !
All questions are compulsory |
’ Q1| Whatwould you do if..... M|
1. An old person has come to repair TV at your home and he is looking very tired 1
(i) Offer him water and something to eat f___j
(ii) Ignore him thinking that he must concentrate on his work D ;
2. It's your grandfather’s birthday t
(i) Give him present and run off to play L] T
‘ (ii) Sit with him for sometime and talk about how his day was D 'a
"f'
-
Q2| True or False § z|
1)| Money lender was a very kind man and wanted to help farmer.
!
2)| Nelson Mandela has won Nobel Prize for Peace ,
;_
|
(.
Q4. Answer the following g8

1) | What did the girl achieve by outwitting the cunning money-lender?

2) | What did the white lady tell Mandela when he said he wanted to buy petral?

3)
4) | What was the plan of Money lender?

Why did the monkey and the elephant decided to ine respect to the tortoise?

Q5. Write down few things we should keep in mind when we are faced with a difficult situation. | 2

Q6 | Use your imagination and creativity draw and colour an interesting poster to create

awareness to promote equality for the girl child

by see L DL —p e
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LI (I !
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Class: VIl Marks : 20

hVanL Khot, 2 sub: social Science Timo  45min |

General Instructions: -
1) There are 11 questions In all. All the questions are compulsory

g) Marks of each question are indicated against the questions .
) Questions from serial number 1 to 7 are objective type questions. Each question carries one mark.

4) Questions from serial 8 to 9 are of 3 marks each.
5) Question number 10 Is of 5§ marks.
— 6) Question number 11 map is of 2 marks.
SECTION-A VERY SHORT ANSWERS M

and

The Battle of Plassey was fought between

ijy two points of difference between Evergreen forest and Deciduous fores. é

~ Match the following:

3
( - “Column A | Column B
i) Civil law - 'a) Offences
ii) Criminal law . b) PIL
~——___| ¢) Violation of rights
1

In the question given below, there are two statements marked as Assertion(A) and Reason(R). Read
The statements and chose the correct option.

Wari system, the local Zamindar collected the Land Taxes.

Assertion: In the Mahal
Reason: The land revenue was fixed in the Mahala Wari system

and R is the correct explanation of A.

Options - (a) Both A and R are true
the correct explanation of A.

(b) Both A and R are true but R is not
(c) A is true but R is false.
(d) A is false but R is true.
(e) Both A and R are false.
' 1

Ngame the plantation that was cause of blue rebellion.
OR

Who was William Morris?

Define Secularism.

Identify the picture:
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What are the methods adopted b SHORT ANSWER Typy o

by men to °°"Smﬁmj\"i' ION

lable watcr rege,,r

50urce?
Prweem.

What methodsr: o |
odstiave been adopted to protect the natura] ye t |
e ‘gc

ation an wildlife?

9.
[

-
|

w

ile
many kinds of cases. Each is divided into distri L8
Each state has a gl 0 state is d!vnded into districts that are presided over by 2 r‘f’“-',cmd they hear
. High Court which is the highest court of that st a District Judge,

located in New Delhi and i i . : at state. At the top is the g y is|
Supreme t 1 and is presided over by the Chief Justice of India, The decisi , siioreme o that i
‘highest l/eﬁ?lu_l\are blndn?g on all other courts in India. The structure of the (x;u:i"ofm made by the ‘
e 1s such that 1t'resembles a pyramid. Are these different levels of ¢ in: O-m theectloewd ertothe |
| o hr. es, they are. I}\ India, we have an integrated judicial system, meanin th):t ti; s decivoms e |
‘ lgher courts are binding on the lower courts. Another way to understand th ig int 'e'de?mons made by |
| appellate system that exists in India. This means that a person can appeal to 4 hi;grd'o"'s'f through the
’[ tha’; the tJ)udgment passed by the lower court is not just. Let us understand what weer;::: rl:;ft}tnt? bellxl;ve i ™ ‘

system i i inistrati y
| 3 y tracking a case, State (Delhi Administration) vs Laxman Kumar and Others (1985), ﬁgr;ple the
|
|
\

lower courts to the Supreme Court. In February 1980, Laxma i i

they lived in a flat in Delhi with Laxman’s b?zhers and their[;aﬁlzlr?easr. ggl%ieig;{g::?;%g gdl:iiGg'e o |

hospital due to burns. Her family filed a case in court. When this case was heard in the Trial Czur: fc‘aeu(: :y |
her neighbours were called in as witnesses. They stated that on the night of December 1,they had heard | |
Sudha scream and had forced their way into Laxman’s flat. There they saw Sudha standing with her sari in \

; flames. They extinguished the fire by wrapping Sudha in a gunny bag and a blanket. Sudha told them that

1 her mother-in-law Shakuntala had poured kerosene oil on her and that her husband Laxman had lit the fire

During the trial, members of Sudha’s family and a neighbour stated that Sudha had been subjected to

torture by her in-laws and that they were demanding more cash, a scooter and a fridge on the birth of the

first child.

Questions:
1) Which court is known as the guardian of Indian constitution?

2) Name the three levels of court in India o
3) What is the Judge of Supreme court called and who appoints him?

: SECTION-C LONG ANSWERS TYPE QUESTIONS

10. 'What were the results of Indigo rebellion —
OR 1 A\ /i
- f

Analyse the problems caused by uniform military culture? | ,_,)_L‘,/

MAP SKILLED QUESTIONS

11. | On the outline map of India, mark the following.

Pl
, - N
(a) Place where the Britishers forced the farmers to cultivate cotton }T’"j\ 2 \
}
\ =

(b) Tea and coffee producing regions. \ .
" Y. 4
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) :
Name: Bg N( h kg K! ! !lx Sub: Science Time: 45 min
Roll No: 2 9

General Instructions:

1. The paper comprises three sections A, B and C. There are 12 questions in
the question paper. All questions are compulsory.

2. Section-A - question no. 1 to 6- all questions are of one mark each. These
questions contain multiple choice questions (MCQs), very short answer
questions. Answers to these should be given in one word or one sentence.

3. Section-B - question no. 7 to 10 are short answer type questions, carrying 2

; —, marks each. Answers to these questions should be in the range of 20 to 25
words.

4. Section—C - question no.11 to 12 are long answer type questions, carrying 3
marks each. Answers to these questions should be in the range of 30 to 40
words.

5. There is no overall choice. However, internal choices have been provided in
some questions. A student has to attempt only one of the alternatives in

; such questions. Wherever necessary, neat and properly labeled diagrams
should be drawn.

- SECTION A

The fundamental particle discovered by sciertist Chadwick. 1
a. Proton ; eutronA
| » c. Atomic Number d. Electron
Frictional force always acts in the direction.................. to the motion of an object. \ W

I

Two objects repel each other. This repulsion could be due to
a. frictional force only. b. electrostatic force only
c. magnetic force only. d. either a magnetic or an electrostatic force

Name one microorganism which can fix atmospheric nitrogen in the soil.

Define Isotope with examples.

Give one word for the following:
Fungal disease transmitted through contact.

[ SECTION B

7 | a. Give the Geometric Representation of Potassium %K 19
b. Write the number of glectrons, protons and neutrons present in the above element
of an atom. n \a

a. What is the Mass number?210

J 8 | A neutral atom has 85 protons and 125 neutrons
b. What is the Atomic number? $ 5
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. Name the microorganism responsible for causing malaris. ~ : S
. How can we control the spread of malaria and dengue” 2

OR - Tt
. What type of microorganisms causes AIDS?7 Write its full form, —/
| . Why is it such a deadly disease?
10 | Following fig. shows a car sticking to an electromagnet. 72
' a. Name the forces acting on the car? Ve *

b. Which one of them is larger? \ |
J

T Q|

T Q

i SECTION C
11 | Two rods of the same weight and equal length have different thickness. They are held 2
| vertically on the surface of sand as shown in Fig. Which one of them will sink more? -~ —

' Why?

f | A B

| Bl f ’

. 2 i !

‘ 1 ‘ |

B -\
| — Sand | Z

OR

Two women are of the same weight. One wears sandals with pointed heels while the
other wears sandals with flat soles. Which one would feel more comfortable while
walking on a sandy beach? Give reasons for your answer.

a. Write the name of the disease.
b. Name the causative agent of this disease.
c. How does this disease spread from one plant to another?

[ J‘ @ ALLTHEBEST ()
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